
Securing cargo. We invented the concept.

80
08

51
  A

A-Series
Fäste Sidomont. hö TU/ Attachment Sidemount right TU

Art.nr 800851



DescriptionBeskrivningPart no.QtyPos.
SIDE- & UPWARD MOVED ATTACHMENT RIGHT A-SERIESSIDOFÖRFL./UPPHÖJT FÄSTE HÖ A-SERIEN42041511
PLASTIC BUSHINGPLASTBUSSNING80085012
LOCKING RING SGA Ø50x2LÅSRING SGA 50x280072713
CLAMPING STRIPE WIDEKLÄMLIST BRED80043324
SCREW M6S 10x45 FZBSKRUV M6S 10x45 FZB21106545
WASHER 10,5x22x2BRICKA 10,5x22x221190946
NUT LOC-K M10 FZBMUTTER LOC-K M10 FZB80016547
WASHER BRB 12 FZBBRICKA BRB 12 FZB21190768
SCREW M6S 12x160 FZBSKRUV M6S 12x160 FZB21109939
NUT LOC-K M12 FZBMUTTER LOC-K M12 FZB211857310

Securing cargo. We invented the Concept.

80
08

51
 

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

Fäste Sidomont. hö TU/ Attachment Sidemount right TU 
Page 2 

Vikt / Weight 5,2kg

525

13
3

590

13
3

250 194

568

52110

363

18
0

384

207 120

78

13
0

130

4

6

7

9
8

8

10 3

5

2

1

50Nm (4x)

80Nm (3x)


